EE MR T —

x TE50cmMD B E O FERIRIEFIRIZHEULNT,
B FESE27cm?, IhERIEEEE#3cme
LT. FEFIBERDERTHERRIGR
N T THUVVEZREP LBAFRMEFIZTE>THS
RURENHFETIC 12|K%75\bnfﬁh’C’C7°oLL\E%§
P Z KO K,




EEmeE7 —1 fBE

2 OFEEIZLL T O Y TH 5
fEa : 50cm, EHPEFHES © 27em?2, JEBEEREL, : Scm

N 7 B2
2

B® = (] =(0.0039478
a

Lo T, T AMED R TR BRI T TR HEEP, I
P =exp(-B%z, )=0.89889

Flo, BAFHEFIC > THORINEN D T TICHRNLIRATT
TR UWESEP (T

P - 1 _096569

1+B2L2




i HERET — 2
s JT)LEDETAERANG., BRE

Xt

OD_HQﬁE;E*&)CJ:O



EEmE7 —1

o] & D77 &t

EZon=-£@MEE(L,

§a=50cm. B\ EFES 7=27cm?,

YLEREEBEL =3cm. THAHD T, /v ) I B,

(-

L CHRRAL RN TTRVREEP (4.

KO T, FIEFHIRIRDEHA

P. =exp(-B’z; )=

Fl= B FICEOTHALRINESNADFETITHRRDLRNTT

FNHESRP. (4,

1
P, = 212
1+ B L




R
- R&HAZL
e . - AR TS
i EEMEE7—2 BEDAE | m—rae
. TILZOER SRR :
aqog’tf’t) = V2q(x.7,1) g
s —REFBTLUTERET 5. .y
a(x,z,t)= >.C,(z,t)cosB,x 0
n=1,3,5
f-=L. BEHIEIZL.
Bn:%’Z (N=135,--)
s CO— TR AERICTRATSHE.




EE BRET7 -2 fRE

» —IRAEEZEF I AEXITHAA

> aCn(T’t)coanx=—Br2] > C,(z,t)cosB,x
n=135 Ot n=135
oC (T t) —BZC (Z’ t)
ot

C.(r,t)=T (7)-exp(—Bt)
s HEOT. —ARFARIL.
q(x,z,t)= X T . (7)-exp(—B:t)-cosB,x

n=1,3,5



	演習問題７－１
	演習問題７－１ 解答
	演習問題７－２
	演習問題７－１ 回答の方針
	演習問題７－２ 回答の方針
	演習問題７-２ 解答

